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QUESTION 1

A warehouse manager needs to view additional information not available in the existing Picking
applications.

Identify two ways to fulfill this requirement. (Choose two.)

A. Create a custom WMS BI Cloud showing the information.

B. Access data through SQL.

C. Modify the base application to display additional information.

D. Use a base WMS BI Cloud showing the needed information.

Correct Answer: AC

QUESTION 2

The customer wants to change the items and quantities on an existing order in the WMS Cloud. Identify the method they
can use to achieve this.

A. The customer may send a "Cancel Order" transaction via integration just before the order is shipped.

B. The customer may send a replacement order by sending a new order and referencing the original order in the "Order
Number to Replace" field prior to shipping of the original order.

C. Once the order is Shipped Confirmed, the customer may adjust the items and quantities via their maps.
D. The customer may change the items on the Order in the Ul at any order status.
E. The order cannot be changed and must be processes as is.

Correct Answer: B

QUESTION 3

Which Inventory screen should you use to configure the Inventory Adjustment Code in Oracle WMS Cloud?
A. IB LPNs

B. Reason Codes

C. ltems

D. Inventory Lock Codes

Correct Answer: B

Reference:
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https://docs.oracle.com/cd/E12448_01/rms/pdfirms_rfm_br/1413/html/ug/ chapter5.htm#CHDBFGEA

QUESTION 4

Identify two correct statements about the type of receiving supported by Oracle WMS Cloud. (Choose two.)
A. Oracle WMS Cloud does not allow assigning multiple ASNs to a load.

B. Receive by ASN (RF-Text: Recv LPN Shipment) allows receiving multiple ASNs.

C. If the trailer contains multiple ASNs, IB Loads can be used to consolidate then into a single record.

D. Receive by load (RF-Text: Recv LPN Load) allows receiving multiple ASNs.

Correct Answer: BC

QUESTION 5

Select the two data formats supported by Oracle WMS Cloud with its built-in interfaces and APIs. (Choose two.)
A. JSON

B. Delimited Flat File

C. EDI

D. XML

E. pdf

Correct Answer: BD

Reference: https://docs.oracle.com/cloud/latest/owmcs_gs-cloud/OWMAP/OWMAP.pdf (6)
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